
1

. 1
(10 نمره)

x = 2 ب . x = 1 الف .
x = -2 د . x = -1 ج .

پاسخ :

. 2
(10 نمره)

پاسخ :
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. 3
(10 نمره)

پاسخ :

. 4
(10 نمره)

نادرست ب . درست الف .
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پاسخ :

. 5
(10 نمره)

پاسخ :

. 6
(10 نمره)
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پاسخ :

. 7
(10 نمره)

ب . الف .

د . ج .
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پاسخ :

. 8
(10 نمره)

4 ب . 2 الف .
12 د . 6 ج .

پاسخ :
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. 9
(10 نمره)
وقتی سارا به دنیا آمد مادرش 30 ساله بود. اکنون نسبت سن مادرش به او 4 است. محاسبه کنید هر کدام چندسالهاند؟

سارا = 10
مادر = 40 ب . سارا = 8

مادر = 38 الف .

سارا = 18
مادر = 48 د . سارا = 12

مادر = 42 ج .

پاسخ :
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. 10
(10 نمره)

پاسخ :


